
One sample t test

Now assume σ unknown.
Conditions: Simple random sample
n > 30 or population distribution is normal.
H0 : µ = µ0
H1 : µ > µ0 (right-tailed)
H1 : µ < µ0 (left-tailed)
H1 : µ 6= µ0 (two-tailed)
test statistic t = x̄−µ0

s/
√

n = t∗.
P-value = P(t > t∗) if H1 : µ > µ0
P-value = P(t < t∗) if H1 : µ < µ0
P-value = 2P(t > |t∗|) if H1 : µ 6= µ0
Note the t chart only gives positive t values. P(t < −2) = P(t > 2) as
the t density curve is symmetric around 0
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Example 8.16

A SRS of n=76 subjects were on a low fat diet. Sample mean weight
loss was x̄ = 2.2 kg with s = 6.1 kg. Can we conclude the mean
weight loss µ of the population is greater than 0? Use α = 0.05.
H0 : µ = 0
H1 : µ > 0
Test statistic t = x̄−µ0

s/
√

n = 2.2−0
6.1/
√

76
= 3.144.

P-value = P(t > 3.144) which is between 0.001 and 0.005.
P-value < 0.05. Reject H0. We conclude that the mean weight loss is
greater than 0.
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Example 8.17

Compare a generic drug to the brand-name.
n = 7 subjects applied the ointment. The amounts absorbed (mg):
2.6, 3.2, 2.1, 3.0, 3.1, 2.9, 3.7.
Does the mean amount absorbed differs from 3.5 mg? Use α = 0.01.
Make a dot plot or stem-and-leaf plot of data: No outliers, no strong
skewness, so we can assume data come from a normal distribution.
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Example 8.17: Solutions

H0 : µ = 3.5
H1 : µ 6= 3.5
x̄ = 2.9429, s = 0.4995 (computed from data)
t = x̄−µ0

s/
√

n = 2.9429−3.5
0.4995/

√
7

= −2.951.
P-value = 2P(t > 2.951) which is between 0.02 and 0.05.
P-value > 0.01. Do not reject H0. There is not enough evidence that
the mean amount absorbed differs from 3.5 mg.
How to find the P-value for t test: Find the degrees of freedom then
move along that line to the right until you find two values than bracket
your t value. Then move to the top to read the range of the P-value. Go
to the one tail line (the 2nd line from the top) for one-tailed test and go
to the two tail line (3rd line from top) for two-tailed test. If t value is off
the chart, then the P-value is less than the value at the rightmost edge.
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exercise

Seven subjects who identified themselves as Buddhist reported hours
per week watching TV of:
2,1,1,3,2,3,2.
Assume the TV watching time of a budddist is approximately normally
distributed.
1). Estimate the sample mean x̄ and sample standard deviation s.
2). Construct a 90% confidence interval for µ, the mean TV watching
time per week for all Buddhists.
3). Test if the mean TV watching time per week for Buddhist is smaller
than the that for the general public which is 4 hours using α = 0.05.
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x̄ = 2, s = 0.816.
CI: 2± 1.943 ∗ 0.816/

√
7 = (1.40,2.60) hours.

H0 : µ = 4
H1 : µ < 4
t = 2−4

0.816/
√

7
= −6.48

the P-value < 0.0005. Reject H0.
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check your understanding exercise

A random sample of dioxin emissions is taken from an incinerator for 4
days this year. The observations were:
2, 3, 3, and 2 grams of dioxin per day. Assume the emissions are
approximately normally distributed.
1). Construct a 90% confidence interval for the mean emission of
dioxin per day.
2). The researcher suspects the incinerator is emitting a higher level of
dioxin this year. Test if the mean emission this year is higher than last
year’s mean emission which was 1.8 grams. Use α = 0.05.
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CI: x̄ ± t s√
n = 2.5± 2.353 ∗ 0.577/

√
4 = (1.82,3.18) grams.

H0 : µ = 1.8
H1 : µ > 1.8
t = 2.5−1.8

0.577/
√

4
= 2.43.

P-value is between 0.025 and 0.05.
Reject H0.
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Example with Solutions

Prob 18, p. 378. An economist wants to find if the mean FICO credit
score of people is lower than the 720 cutoff of 720. She finds the mean
FICO credit score of a SRS of 100 people had a mean of 703 with a
standard deviation of 92. Can she conclude the population mean FICO
score is lower than 720? Use α = 0.05.
x̄ = 703,n = 100, s = 92.
H0 : µ = 720
H1 : µ < 720
t = 703−720

92/
√

100
= −1.85

P-value =P(t < −1.85) which is between 0.025 and 0.05.
Reject H0. She has sufficient edivence to conclude the population
mean score is lower than 720.
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Check your understanding exercise

The mean annual tuition and fees in the 2009-1010 academic year for
a sample of 14 private colleges in CA was $30,500 with a standard
deviation $4,500. A dotplot shows it is reasonable to assume the
population distribution is normal. Can you conclude the mean tuition
and fees for private colleges in CA differs from $30,000?
a. State H0,H1.
b. Compute the test statistic.
c. Find the p-value. What is your conclusion using α = 0.01 level of
significance?
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Solutions

H0 : µ = 30,000
H1 : µ 6= 30,000
The t statistic is:
t = 30500−30000

4500√
14

= 0.416.

P-value = 2P(t > 0.416) which is between 0.50 and 1.00.
Do not reject H0. There is not sufficient evidence in the data that the
mean tuition differs from $30,000.
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